CS 24: Introduction to Computing Systems

Lecture 4 Exercises

Name:

(a) 0000000000000000 <mystery>:

0: 31 c9
2: 85 ff
4: 0f 95 c1
7: b8 ff ff ff ff ffffff,%eax
c: Of 49 c1 cmovns %ecx,’eax
f: c3 retq_\
b) 0000000000000000 <mystery>: .Qg) L= e/(
2: 89 8 = mov %edl,%eax f%v( °fbh
4: Of 4e c6 cmovle %esi,%eax 7‘F(—QS) <,
7: c3 retq X < Q,S)

(c) 00000000004004£0 <mystery>:
4004f0: 85 ff
4004f2: 74 08
4004f4:. 0f af f7
4004£f7: 83 c7 ff
4004fa: 75 £8

@ <mystery+0x0,cjl

%edi,%esi
SOXFEFEEFEE, %edi
4004f4 <mystery+0x04>
%esi,heax

4004fe: c3 etq
(d) /‘Z/\ A
0000000000000000 <mystery>: —
0: 48 8b 07 ! “?« )
3: 48 8b 16 mov
6: 48 89 17 mov %rdx, (Yrdi)
9: 48 89 06 mov Yrax, (hrsi)
c: c3 retq

h )

0000000000000000 <mystery>: ¢ ’ .
0: 8b 07 mov (fexdY) , heax
2: 8b 16 mov (),%edx
4. 89 17 mov Y%edx, (%rdi)
6: 89 06 mov Yeax, (hrsi)
8: c3 retq

0000000000000000 <mystery>:

0: Of b7 07 mo (%rdi) ,%eax
3: 0f b7 16 mo (%hrsi) ,%edx
6: 66 89 17 mov %, (%rdi)
9: 66 89 06 Enov , (Yrsi)
c: c3 retq
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(e) 00000000004004f0 <mystery>:

4004f0: 83 ff 03 cmp $0x3, %edi

4004£3: 72 1le jb 400513 <mystery+0x23>
4004£f5: b1 01 mov $0x1,%cl

4004£7: Tc 17 j1 400510 <mystery+0x20>
4004f9: 89 fe mov %edi,%esi

4004fb: bf 02 00 00 00 mov $0x2, %edi

400500: 89 O mov %esi,%heax

400502: 99 cltd

400503: f7 £ff idiv %edi

400505: 85 d2 test %edx, hedx

400507: 74 Oa je 400513 <mystery+0x23>
400509: 83 c7 01 add $0x1,%edi

40050c: 39 f7 cmp hesi,%hedi

40050e: 7c O jl 400500 <mystery+0x10>
400510: 89 c8 mov hecx, heax

400512: c3 retq

400513: 31 c9 xor %ecx,hecx

400515: 89 c8 mov %ecx, heax

400517: c3 retq



